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1. BREICIIEMEBEOHER

(1) FEARK
ri=ry*Cs ——— (1)

Cs=a,// (t"+b)

roo o R R RN AR EEHE E A (mm/hr)
Ry FESRAFEF 72 I135EMEH N E (om/ H)
t o BERUARAERER ()

Cs,n,a, b : $R¥E CH BRI

ﬁ}ﬁ%AEﬁ 1 =C Ty
C,=347. 1,/ (t"*+1502)
R - r,=R - (5.3134,7t*%)

KO Cs HEEAOIESL a,b,n 13, n % 0.10~0.99 F T 0.01 &y FCHE LT/
FIEIC KV IRAENE/N L 725 n & Bifif & L CRET D,

n ORRFBEREREX-3.3. 1 1TR-T,

n DOFAHEIC K 5 BERTRE OHEERIZL-33.3 D LB THY | HEXLIEARED L
[ % [X-3.3.2 1R,
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7.1-1 BREICKSEMEEHTR Cs DFR#En DRBEERFER
# 1.1-1 BREEQHTEXCs BEEHR

Wit : 5 10 20 30 4 50 60 70 80 90 e -
R = EEEL 0.860| 0.649] 0530 0.452| 0.396] 0.354] 0.321] 0.204] 0 271

BB o= 130287 ~(+"% +oas02 )| oseol oes0] o0530] 0452 0306 o0.354] 0321 008 0.271] 00003 B
100 110 120 130 140 150 160 170 180
0.253] 0.236] 0.223] 0.210] 0.199| 0.190| 0.181] 0.173] 0.166
0.253] 0.236] 0.222] o0.210] 0.199] 0.190| 0.181] 0.173] 0.166

#E : 5 10 20 30 40 50 60 70 80 90 e -
R = EEEL 0.737) 0.582] 0.497| 0.440] 0.399] 0.367] 0.342] 0.321] 0.303

BB o= 50308 ~(+"° +30703 )| 0736| o052l o407 040l 0300 o068 o03s2| 0321 0308 00008 B
100 110 120 130 140 150 160 170 180
0.288] 0.275| 0.263| 0.253] 0.243] 0.235| 0.228] o0.221] 0.214
0.288] 0.275| 0.263] 0.253] 0.243] 0.235| 0.227] 0.200] 0.214

it : t5 10 20 30 40 50 60 70 80 90 e -
e 3 BEEL 0.755| 0.608] 0.519] 0.458] 0.411] 0.375] 0.346] 0.322] 0 301

BB Co= 130603 /(' 4+ 114105 )| 0.755| o0.60o] o.510| o.458| o411l o075 o.3s6l 0322 0301 00008 B
100 110 120 130 140 150 160 170 180
0.283] 0.268] 0.255| 0.243] 0.232] 0.222| 0.213] 0.205| 0.198
0.283] 0.268] 0.258] 0.243] 0.232] 0.222] 0.213] 0.205] 0.198

*3R t5 10 20 30 40 50 60 70 80 90 e =
e 3 BEEL 0.783| 0.589] 0.479| o0.406] 0.354] 0.315] 0284 0.259| 0.239

BB Co= 146048 ~( +"" 4+ 113887 )| 0782 o0580| o0.470] 0406 0354 o0.315| o0.28s] 0250 0230 0 0008 B
100 110 120 130 140 150 160 170 180
0.221] 0.207] 0.19a] o0.183] 0.173| 0.164] 0.156] 0.149] 0.143
0.221] 0.207] 0.19a] o0.183] o0.173] 0. 164] 0.156] o0.149] 0.143
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—_— L :n=0.83,a=13.9287, b=9.4402
—_— HE :n=0.61,2=5.9304, b=3.9793
— EHE :n=0.77,a=13.0603, b=11.4195 [ |
— KR :n=0.87,2=14.6944, b=11.3887
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& 1.1-2 HoKk3ZE

R AMREE & HRREDL

R Cs=a/ (t"+b)
n 0.83 0.61 0.77 0.87 i ARK Wy
a 13. 9287 5. 9304 13. 0603 14. 6944
b 9. 4402 3.9793 11.4195 11.3887|Ct=347. 1/ r/r24=
t (4%) 1157 B i KR (£ *%+1502)| 5.3134/t %%
10 0. 860 0.736 0. 755 0. 782 0.2277 1. 1447
15 0.737 0. 645 0.671 0. 670 0.2253 0. 8736
20 0. 649 0. 582 0. 609 0. 589 0.2226 0.7211
25 0.583 0.534 0.559 0.528 0.2198 0.6215
30 0.530 0. 497 0.519 0. 479 0.2168 0.5503
35 0. 488 0. 466 0. 486 0. 439 0.2138 0. 4966
40 0. 452 0. 440 0. 458 0. 406 0.2107 0. 4543
45 0. 422 0.418 0. 433 0. 378 0.2075 0. 4200
50 0. 396 0. 399 0.411 0. 354 0.2043 0.3915
55 0.374 0.383 0.392 0.334 0.2011 0.3674
60 0.354 0. 368 0.375 0.315 0.1979 0.3467
65 0.336 0. 354 0. 360 0. 299 0.1948 0. 3287
70 0.321 0. 342 0. 346 0. 284 0.1916 0.3128
75 0. 307 0.331 0.333 0.271 0. 1884 0. 2988
80 0.294 0.321 0. 322 0. 259 0.1853 0. 2862
85 0. 282 0.312 0.311 0. 249 0.1823 0.2748
90 0.271 0.303 0.301 0. 239 0.1792 0. 2646
95 0. 262 0. 296 0. 292 0. 230 0.1762 0. 2552
100 0. 253 0. 288 0. 283 0.221 0.1733 0. 2466
105 0.244 0. 281 0.275 0.214 0. 1704 0. 2387
110 0.236 0.275 0.268 0. 207 0.1675 0.2314
115 0. 229 0. 269 0.261 0. 200 0.1647 0. 2247
120 0.222 0.263 0.254 0.194 0.1620 0.2184
125 0.216 0. 258 0.248 0.188 0. 1593 0.2125
130 0.210 0.253 0.243 0.183 0. 1566 0.2071
135 0. 205 0.248 0. 237 0.178 0. 1540 0.2019
140 0.199 0.243 0. 232 0.173 0.1515 0.1971
145 0.194 0.239 0.227 0. 168 0. 1490 0.1925
150 0.190 0.235 0. 222 0.164 0. 1466 0. 1882
155 0.185 0.231 0.218 0.160 0. 1442 0.1841
160 0.181 0.227 0.213 0.156 0.1418 0.1803
165 0.177 0.224 0. 209 0.153 0. 1395 0.1766
170 0.173 0. 220 0. 205 0. 149 0.1373 0.1731
175 0.170 0.217 0. 202 0.146 0.1351 0.1698
180 0.166 0.214 0.198 0.143 0.1330 0.1667
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